(1) ASSY CABINET COM 15K (€Q-1000) (D-3/3) ®
ASSY SUB-CABINET
(CQ-1001)

(D-1/2)
ITEM NO. PART NO. DESCRIPTION
201 051—0006 FLG NUT M§6
202 0510004 FLG NUT M4
203 000-0520—FS M SCR PH W/FS M5x20
204 000—0430 M SCR PH M4x30
205 000—-0406—S M SCR PH W/S M4x6
206 000-0420-FS M SCR PH W/FS M4x20
207 000—0414-FS M SCR PH W/FS M4x14
208 000—0308-S M SCR PH M/S M3x8
209 005—3113—-F W SCR RH W/F 3.1x13
210 0080408 TMP PRF SCR TH M4x8
211 010—-0308-F S-TITE SCR PH W/F M3x8
212 0510003 FLG NUT M3
213 000-0305-8 M SCR PH W/S M3x5
215 047-0001 RVT OPEN TYPE 3.2x4.4
[ A R
® » w @
2 P
© @ ® @ "
i ke & i )
T o ¥
i S
- ®
\‘ = e
J gl
@ /% k
AQ ® @ /@/ﬁ
= N A N
(3 ¥ @ R
D) .
® ®

—29—




